Here are these symbols: +  -
Put the symbols into the correct calculations.
6 ____ 3= 9                              27 ____ 1 =26
40 ____ 5 = 35               18 _____ 2= 20
Write the missing number to make the total 50.
40 + ___=50                 30 + __ =50                  20 +___=50

Use these numbers to make these calculations correct:   10     20     30     50
17 + ____ =47
45 - ____ = 25
____ + 98 = 88
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Name this shape:     

                                     What shape are it faces?

Xavier buys a toy that costs 45p.
Draw five coins that he could use to buy it?
Olivia is making a cake with Evelyn. They have 100grams of flour.    Olivia uses 20g     Evelyn uses 15g
How much of the flour is left?
